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dyldx = x* + xy dyldx =x+y dyldx = <
N
Y
dyldx = f dylde =x—y dyldx= — =
D
dyldx = — ;‘i dyldx = x> —xy dyldx = x* — 16




dyldx = 0.5x(x* — 16)

dyldx =y*— 16

dyldx = xy — y?

dyldx = x* — 4x

dyldx = xy +y*




Horizontal slopes along the
line y = —x and the y -axis
(x=0).

Y

Horizontal slopes along the
x -axis and no slopes along

the y-axis. dy/dx > 0in
Quadrant I and III. dy/dx <0
in Quadrant II and IV.

r—
[
b

Horizontal slopes only along
the line y= —x.

Horizontal slopes along the
y -axis and no slopes along
the x-axis. dy/dx > 0in
Quadrant I and III. dy/dx <0

in Quadrant II and IV,
)Y

Horizontal slopes along the
x -axis and no slopes along
the y-axis. dy/dx <0in
Quadrant I and III. dy/dx >0

in Quadrant II and IV,
A

Horizontal slopes only along
the line y = x.

Horizontal slopes along the
y -axis and no slopes along
the x-axis. dy/dx <0in
Quadrant I and III. dy/dx > 0

in Quadrant IT and IV.
I1

Horizontal slopes along
x= —4 and x=4.
dy/dx > 0in (—o,—4)and
(4, ©). dy/dx <0in (—4,4).
C

Horizontal slopes along the
line y = x and the y -axis
(x=0).




Horizontal slopes along
x= —4,x=0, and x =4.

Horizontal slopes along the
line y = x and the x -axis

(v =0).

()

Horizontal slopes along
y= —4and y=4.
dy/dx > 0for y >4 and
y< —4.dyldx <0for
—4<y<A4,

Horizontal slopes along
x=0and x=4.

Horizontal slopes along the
line y = —x and the x -axis
v =0).
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